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Have your homework out
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7. Find mZ£5 if mZ2=3x—6, mZ3=5x—4,and mZ5=

DAl +Ox-Ha2 T+ 4
11O =2
*10=-4 " ¥=\Y

8. Find m£1 if £4 and £6 are complementary, mZ4=2x—8

and mZ6=2x-14. lx_x _\_Qx "U’\ :q()—)
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parallel lines



Transversal

A transversal is a line that intersects two or more
lines in a plane( intersecting or parallel ) at

different points.
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t is the transversal

The interior angles lie ‘
between the parallel lines and Exterior
the exterior angles lie outside

the pair of parallel lines. In the N 2

following diagram, line K is the
transversal. A transversal is a
line that intersects a system of

Interior

Y

two or more lines. Lines | and AX
m are parallel. The exterior
angles are 21, 22, 27, and
£8. The interior angles are 23,
24, +£5, and 46.
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Angles Made by a Transversal with Two Parallel Lines
1.

When a transversal cuts a pair of parallel
lines the sum of

interior angles on the same side of

the transversal is always equal to
180¢ 4

/

When a transversal cuts a pair of parallel lines,

the corresponding angles are equal.
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When a transversal cuts a pc

the pairs of alternate in

When a transversal cuts a pair
the pairs of alternate exterio



[ TEST FOR PARALLEL LINES

Some of those special pairs of angles can be used to test if lines really are parallel:

’/a7/\b If Any Pair Of .. Example:
\ .

\7 i } Corresponding Angles are equal, or a=e
c d Alternate Interior Angles are equal, or c=f
Alternate Exterior Angles are equal, or b=g
Consecutive Interior Angles add up to L soee
\'/: f T PR g4 1=180
v/ /‘
h .. then the lines are Parallel
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In the diagram, AB| CD 5><4__\19¢0> o
land AC||BD. If 65(_%0
mZ1=3(x+15), "E;" S /) \

¥m/2=2x+55, and @
m/Z3 =4y +9, find the
measures of the

unknown angles and the
values of x and y.
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. Guided Practice

Example 4 \ ‘A
In the diagram, AB||CD. 3 :
| -
35

A
If mz1 = 35 and & . -
ms2 = 65, find m2EQF.
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